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Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
10,287 x 100 = 6,423 x 100 =
2,833 x 1000 = 4,834 x 100 =
6,036 x 1000 = 6,21 x 10 =
4,518 x 10 = 5,338 x 10 =
6,105 x 10 = 4,551 x 10 =
10, 605 x 100 = 8,818 x 100 =
2,066 x 100 = 9,437 x 10 =
9,423 x 10 = 6,261 x 1000 =
5,84 x 100 = 3,945 x 10 =
1,712 x 100 = 5,832 x 1000 =
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Moltiplica i decimali per 10,100,1000

Nome: Data: Punteggio:
10, 287 x 100 = 1028.7 6,423 x 100 = 642.3
2,833 x 1000 = 2833 4,834 x 100 = 483.4
6,036 x 1000 = 6036 6,21 x 10 =62.1
4,518 x 10=45.18 5,338 x 10 = 53.38
6, 105 x 10 = 61.05 4,551 x 10 =45.51
10, 605 x 100 = 1060.5 8,818 x 100 = 881.8
2,066 x 100 = 206.6 9,437 x 10 = 94.37
9,423 x 10 =94.23 6,261 x 1000 = 6261
5,84 x 100 = 584 3,945 x 10 =39.45
1,712 x 100 = 171.2 5,832 x 1000 = 5832
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